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FORMULES D'INTEGRATION

1_[Ddx=1c
17Isecxdx=]n|secx+tanx|+1{
2 [T = &supl ;-1
.[ e = r+1+k(r P ) lslcasecx dx=]n|u::oseu::x—|:otx|+k
3_|-axdx=]zxa+k 19 ‘l‘\f{idx a:rl:sm[X]+k

4Iexdx=ex+k ZOI ! dx=larctan[5]+k
a

2 2
a” +=x= a

501 _
[ =lnfsl+k

1 1 X
21 [ e =_— =
IX Xg_agdx aart:sec[a]ﬂ{

6Isﬁ1xdx=—cosx+k 22[h1xdx=x]nx—x+k
7_[cosxdx=sinx+k 23 Iaru::sinx dx = zarcsin x ++/1-2° +k
8 Isech di =tanx +k 24 Iaru::osx dx = zarcosz — 41 -2 +k
2 = _
9_[':5': xdg=-cotxtk 25 Iarctanx dx=xarctanx—%]n(1+x2j+k
10 Isecxtanx di =zecx +k 26]* - 1]nX_a +1
xta

11 Icscxc-::-txdx=—cscx+k 27J« 1 dx=i]nx B ke

at-x* da |z-—a
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12 IW

de = arcsin x +k

13‘[ ! - dz = arctan x +k
1+=

de =arczecx +1o

141
Ixﬁxg—l

15 Itan % dx = ]n|sec:x|+k

16 Icotx dx =]n|sin X|+k
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+1I
X2+a2

28 f—l dx=]n)x+xm

29 ‘I‘%dx =lnjx ++/z° —a*|+k
2 -a

o

Tz .7 2
30‘[ﬂfaj—xzdx=—ma E +a?arcsin[5]+k

2 a

31

|_2 2 2
‘I‘f\fag +X2dX =$+%]ﬂ‘x +ﬂu'§§2 +az‘+k_

32
7 _ .3 2
‘I‘w\,l'x2 -a‘dx =%—%lﬂ‘x+#xz —a3‘+1«:
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